YEAR 4 LO: to divide usi [ .

Use manipulatives or work mentally to calculate:

. a) 36 + 4 = h) 36 + 3 = c) 45 + 5 =
d) 42 + 7 = e) 24 + 6 = f) 72 + 9=
g) 32 + 8 = h) 35 +7 = i) 64 + 8 =
2. Put these numbers in the correct section of the

Venn diagram:

16 20 14 24 18

Divides by 3, noremainder  Divides by 4, no remainder

Add another number to each section.

3. Put a number in each section of the Venn diagram:

Divides by 3, no remainder ~ Divides by 4, no remainder

A

Divides by 5, no remainder

22




